MODEL #

FM72080-C

Questions?

GIVE US CALL: 1-888-980-5122
MON-FRI 8:30AM - 5:30PM (PST)

VERSION # 24-07-17

— 3

Allen Wrench
(Included)

Screwdriver

(Not Included)

2 - Persons
Recommended

- 10000

EASY ——— = DIFFICULT

The Assembly Rating is a
5-point system showing the
level of effort needed to
assemble a specific product.




217



317



417



CHEST

FM72080-C

@lpc @chs @2pcs
== <]
i

—

Chest Acrylic Leg Metal Leg

@ Ipc 4pcs @ 4pcs @ 4pcs
~ = ©

Allen Key JCBC M6 x 20mm M6 Spring Washer M6 Flat Washer

Anti-tipping
Restraint Kit

517



ASSEMBLY INSTRUCTIONS

1

Part@ X 1pc
Part@ X 2pcs
Part@ X 2pcs

Acrylic Leg cover Remove Acrylic Leg & Metal Leg carton

\0 located in the drawer of the casegood.
N
J 5 O

Remove and unwrap each foot.
/ —

Remove Acrylic Leg cover

before assembly.
37

2 Secure the (2) Acrylic Leg to the bottom of (1) Chest as a diagram shown.

Part@ X 1pc
Part@ X 2pcs

6/7



Secure the (3) Metal Leg to the bottom of (1)Chest tighten using (B) JCBC M6 x
3 20mm,(C) M6 Spring Washer &(D) M6 Flat Washer as a diagram shown.

Part@ x 1pc
Part@ X 2pcs
Hardware@ X 1pc
Hardware X 4pcs
Hardware@ X 4pcs
Hardware@ X 4pcs

4

Part@ x 1pc
Hardware@ X 1pc

Keep this handy!

Please relain this instruction
manual and any order-related
information for future reference.

@ Lift,don't drag!
To avoid damage to product
please always LIFT the product

when transporting of adjusting
the placement.

This product is intended for RESIDENTIAL USE ONLY and not for commercial use.

717



	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


